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LEE 341 Fall 2005

EE 341 - Exam 3
October 21, 2005

Name: 59 v diun

Closed book. Show all worlk. Partial credit will be given. No credit will be given if an answer
appears with no suppersing work. You may use cne page of notes and a calculator,

1. Finc the discrete time Fourier transform of the follwing signal:
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2. Consider a aystem with the frequency resnonse

H{)) = 2cos(§2/2)e #9072
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Find the output g of the system when the input is
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3. Find the initial aud fnal values for ench of (ke following sigonals. T+ the initial value or Spal
value does not exist, explein why.
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4. Consider a svatem cescribec 'by the differential equation

diyp(t)  _dyi)
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{w) Find the transfer funcrion H(e) of the system.
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it} Sketch she pole-zero diagram of the symem.
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(e} Find the impulse response &{t] ol uhe svstar,
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initial conditiona are y{0) = 0 and {0} = 1
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(d) Find the ontput of the systen when the the inpur to the systemn is 2(i] = ali] and the
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5. Consider the system deser:bed by the Laplace transform

Hl?l: ; _:_i_lﬁ:in XS
T+ 2%+ 0.1){s% — 52+ 10

{a) What is the form of the step respouse of the system? [You de not have to toke -he
invorse Laplace trasform - to write down she form uf the response, you do not have to
give the exact umplm:de and phase of each term.)
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Ib) What is the nal value of the step mesponse of the system?
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ic) .-"Lb-:rﬂ how long will it bake the system to get close w the fine! value? {Close menns (%)
will be about 90%: of the finsl valne. You do not need to give an exact velue — give an
approximate value and just:ifr it.)
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